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Eli invested a total of $2000 in two stocks. On

$10.40 per share. Eli bought a total of 130 shares. Write a sys
the situation. Solve the system using substitution to find how many share

bought. Remember to interpret your solution.
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A karate school offers a package of 12 group lessons and 2 private lessons for $110. It also offers
a package of 10 group lessons and 3 private lessons for $125. Write a system of equations that
represents the situation. Solve the system using elimination to find the cost of a single group L

lesson and a single private lesson. l
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